B.A./B.Sc. (Part-II) EXAMINATION, 2019
ECONOMICS '
Second Paper
(a) [Elements of Statistics and Mathématics] *
- ~ OR
(b} [History of Economic Thought]
Time : Three Hours Maximum marks ;100 for Arts
' ' . _. 75 for Science
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(a) Elements of Statistics and Mathematics

PART-A( ai7-37)
I. () Solve the following : | 10x2=20
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i) Ifx=(5+ 2./p then prove that
ﬂCiﬁ:X:(S-i" 2\{%" %,‘—\‘ﬁﬁq@ cn?rﬁt&% :
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Gi1) Prove that :

(2" {20 {20
log| }—{‘—1!+iogl—y-m§+log3-§f§=0 :
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(ivy Secive the eguation :
T WIS I 9 SIS
8x* - 10x+4=0 -

{v} Findthe vaineof: Iog ;. (15)
. rd

(vi) The sum of three numbers in A.P is 2] and sum of their squares is
155. Find the numbers ?
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(vii) Sumtonterms: .3'+.33+ 333+ ........

(ix)

(x)
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(iv)

)

n Ve FATIAHOL : 3+ .33+ 333 4.
TF AfdRaa & gHa gy
Differentiate between census and sampling.
IO AT Yidaad ® 37T T FAIC |
What is squrious correlation ?
e gy g ?

PART-B ( $IR1-9)
Find the middle term of :
LIS Frd BT

x_ll.'*
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Find the inverse of :

399 94 HITAT ;
4 -1 1°
A={-3"1 1
1 1 -1
Integrate -
gurHe SIS
x> +4
(xF-3x+2)

The average wages paid to all workers in a factory was Rs. 5000.
The average wages paid to male and female employees were Rs.
5200 and Rs. 4200 respectively. Determine the percentage of males
and females employed by the company/factory.

T St & wvit gibel 1 < S arel sited Tergd 5000 . o R
o Hfeec AfEhl T A eI FHE: 5200 . T 4200 %. o | Hl/
FIA gR T@ T IEY a1 Higen gful 1 gfava 31d S|

The arithmetic mean and standard deviation of a series of 20 items
were calculated by a student as 20 cm and 5 cm respectively. But
while calculating an item 13 was misread as 30. Find the correct
arithmetic mean and standard deviation.
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PART-C ( 9F1-®/ )
Explain : 5
faar wifsa .

(x 1 Jm

3 2 !

Ifa b, cbein AP andx,y, z in G.P; Prove that x**y=z>=1. 5
IfE 2, b, ¢ TR O 41 x, y,z"Iﬂ_ﬂ'ﬂI goft B 71 o fag sifse fe
x> yeazat = 1.

Find the equation of a straight line whose intercept on the x-axis is
3 times its intercept on the y-axis and which passes through the
point (-1, 3). ' ' 5
T T T 1 THE T4 HIToTC et X-318 i S, Y-37
¥ ety @1 3 T R q S fagadl (-1, 3) W R A 2 |

Prove that :

fag = :

1+a 1 1
1 1+b 1
1 1 1+¢

=abc+ab+bc+ca

OR(aTﬂET)
Solve by Cramer’s rule : 7
T & o g &0 SIS
2x-3y+4z=8
3x+4y-5z=-4
4x - Sy +6z=-12

Find the maximum and minimum values of the fOHOMﬁg fUﬁfWﬁ
f=1 Ferm @ stfrpam o =<gaw Hed 9 FiT
y=3x'-10x*+6x>+ 5.

Determine the nature of commodmes for the following demand
function : 4

1S P o

X, =P, l:)2 *and X, = pl-o.s p2-0.4
—_ -1.5 0.4

x,=p,~* P and X,=p,*°p,
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(iv) Find Ix -

4. (1)

(i1)

(1

(1)

.dilﬂ e
_Natx-+va-x

- Ja-!—x +Ja—x

An incomplete distribution is given below : 10
Variable:  0-10 10-20 20-30 30-40 40-50 50-60 60-70
Frequency : 10 20 ? 40 ? 25 15

-You are given that the median value is 35. Find out missing

frequency (given the total frequency = 170). Also calculate the
arithmetic mean of the completed table.

T YU g P gaR e man #

= 0-10 10-20 20-30 30-40 40-50 50-60 60-70
e : 10 20 ? 40 ? 25 15

fean a1 € for werent e 35 © < S19IG Sgfadl S FIa SIS wafn
T AGR = 170 | T WY & GO} ST & g, FHR /g i AT
FHifSa |

The scores of two batsman A and B in ten innings during a certain
season are : 10

3 SectaTsi A 791 B % T Ffvea diem % SR 10 wiE swmn
A: 32 28 47 63 71 39 10 60 96 14
B: 19 31 48 53 67 90 10 62 40 80
Find whick. of the two batsman, A or B, is more consistent is scoring.

Tg 1A it foh ST sheciarsii A 91 B § 8 S TR HE7 B i 9
g7

OR ( 37e@T)
Find Bowley’s coefficient of skewness for the following frequency
distribution : 10
=1 sngf e & g s =1 fawwan [oriss o Fifog .
No. of Children per family : 0 1 2 3 4 5 6
(vfa 9fEr =81 =1 Femn)
No. of Famulies 7 10 16 25 18 11 8

(fEr =1 g@&n)

A Machinery depreciated by 40% in the first year 25% in the second
and 10% per annum during the next three years. What is the average
rate of depreciation during the whole period. 5
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(i11) State the properties of standard deviation. 5
g foee ot faeiarstt S v wifsa
5. (i) From the following data, calculate the coefficient of correlation
between age of students and their playing habit : 10
71 Stfenel | faanfefai St o1 79 37 Wl &1 3Med % o ega™
ﬂ'ﬂfﬁa" 314 HIIT
Age Group (Years) 15-16 16-17 17-18 18-19 19-20 20-21
g (a)
No. of students : 200 270 340 360 400 300
No.of regularplayers: 150 162 170 180 180 120
ot Frerifedi =1 e
(1) In an examination 492 students secured the following marks: 10
Tl aiien § 492 v 7 f31 3f% ura foa .
Marks (3&)  No. of Students (BT =1 T&1)
Not more than 40 212
“ 45 296
“ 50 368
* 55 429
“ 60 460
“ 65 481
“ 70 490
“ 175 ' 492

Estimate the number of students who obtained more than 42 but not
more than 45 marks.

mmwmmﬁ%ﬁnﬁméﬁﬁﬁﬁmmm
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(i) From the following data, find the cost of living index number for
1980 on the base of 1970 by the Family budget method :

Fret weiel | 1970 1 SR AR 1930$raiaﬂ—ﬁafgqam$mﬁarﬁ$

a2 Tfd g1 91 i o
Items/a] Quantity Consumed/ Unit/3&T3 Prices/%d
IY4IT |/ 1970 1980
Wheat/T§ 2 Qil. (F==) Q. (F=) S0 75
Rice/<a1ad 20kg. (fFeiamm)  Qul. (F=a1) 100 120
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Sugar/SH 10kg. (FFElom™)  Qu. (3=@0) 80 120
Ghee (Desi)/dl (9€1) Sk (fFelmm)  Kg. () 10 10
Ghee (Dalda)/dt (I/1@)) S kg: (Fhefm)  Kg. (fFelt). 3 5

Oil/dad - 25 kg. (Teeizma) Qti-(Fae). .-.200 200
Clothing/®9S! 25 Meters (HieX)  Meter (HiR) 4 5
FuelBym 4 Qt. (F=ue1) Qi (F=d) 8 10
Rent/feraran One (TF) House (F&M) 20 25
(ii) Calculate the two regression équations from the following data :
= el @ ST garamHa GHiRl i F1d ST
Sales (fshl) : 91 97 108 171 67 124 51 73 11157
‘Purchase (%9) : 71 75 69 97 70 91 39 61 80 47
From these equations alwo calculate coefficient of correlation.
T G0N | Ty e ot Tiefea Sifse
(B) HISTORY OF ECONOMIC THOUGHT
Time : Three Hours , Maximum marks : 100 for Arts
. 75 for Science
PART-A ( F1-37)
1. (1) Define Mercantalists.
Sftrerare =t aftfya sifsrg )
(i1) Factors affecting Malthus and his thoughts.
HeUd 9 39% faarl & y9ifaa 37 9161 a7 |
(1i1) What is invisible hand doctrine ?
- scE Tl fagrasn g ?
(iv) Define Marginalism.
HrHrars s aftnfya Fifsa )
(v) National school.
LA TS
(vi) Wage theory of Mill.
- o weed W fag

(vii) Name four features of Marxism.

HEGER #1 9 fivand

(viii) Write the thoughts of Gandhi j ji on use of Machmery.

eI & FAT W Tt & faar fafae

(ix) Drain theory of Dadabhai Nauroji.

(x)

ST ARt w61 PRl 1 fagr
Write the thoughts of Kautilya on welfare state.

FAUFHR] TG R Hifeed & f9=9r fafgn



. PART-B( -9 )i ¢
~ 2. () Whatis the theory of distribution of Adam Smith ?
e fy o faamr s faga = g 2
(i) Explain Recardian theory of profit:” -
el & TS e = IRET)
(i1i)) Was Sismondi a Socialist ? Explain. .
7o Tommost gamare & ? Sre St |
(iv) Explain the Dadabhai Naoroji’s thoughts on Railways.
Yo R e AR & feR SR
(v) Explain Sarvodaya thoughts of Gandhi Ji.
~ ‘ PART-C ( 9WT-9) -
SECTION-I(@us-1)
3. Discuss briefly the ideas embodied to Adam Smith’s ‘Naturaiism’ and
‘optimism’.

wew forg & ‘ygfrar’ 3l e ﬁﬁﬁﬁaﬁ'ﬂmﬁmw%_
Ieh1 T ol HIfT |

OR( 319ar)
Discuss the Nature and importance of Rccardo s contrlbunon to the theory
of International Trade.

& NEA R w#m@ﬁ%m’@ﬁﬁmﬁﬁﬁ%mwmm
I HIFT | -
SECTION-II ( '@UIG.-."—I[ )

4. Discuss the factors which influenced the economic ideas of J. S Mill.
ERS ﬁa%ﬁ%ﬁaﬁ@twﬁammﬁﬁ? S ¥ @ 9 2 3T
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OR ( 319@r)
Describe Marxian Socialism. In what sense is it called Scientific ?
Tl ¥ erTETe 1 faeor GifeTe | e R gfe S AT ser S ?
SECTION-III ( @vs-1I )

5. Write an essay on the contribution of Deendayal Upadhyaya to economic

thoughts.

AT AT H aqﬁa?ﬁmﬁﬂﬂ’mmmwﬁwﬁfam

OR ( 37¥@r)
Compare the economic ideas of Mahatma Gandhi with the doctrines of
Communism.
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